1000/0 2do)/d(m_1 + m_2) [1/GeV]
H

-
o
@

Ratio to CMS
[N

0.5

7000 GeV pp

Trimmed dijet mass (anti-k_(0.7), 220<p_<300, |y|<2.5)

Jets_

T T 11 |IIII||||I_M|, IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ 111}

n
B CMS u

—— Pythia 8.308 default

--¥-- Pythia 8.308 vincia-default
| | | ' | | | | | | | | | ] |
i 1 T T | T T T T | T T T T

L
100
(m_ 1+m_2)/2[GeV]

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


